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 l.nSAPfr = (2) 

 �t
�"�� &
�JR cR XR �L
���� ;$. V
��4�A 3- PNR d
A�% �AB�,�� �� ��J
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"�% /+0:  . �$. 6 V
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- �. �
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 3!k� ~���� ����,JF��-? X,5
�� ZQz  . �
.
�?� Z9^ 6 �95
M Z!4 /�D��� XR }�x)15 6c,���� � ( /D!J
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�	� . ���
�� /
'
���� /�D��� y�� ),1n� 3�u�
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v�5?� 3� dB
��� 6
w(� /�
�k� +�- �$. ���	�
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 3- PNR ��&
��� ;$. 6 &�Dn� Z9^ X,�4 XR d�
t P�!J� bq�1 3� D	l	 XR 3�u c$��� +G8� Dn� �D� 
"9' 1 ��= 
 o5
%A 3	D�E�
J �5�
�- s�DB /+E% d1� d2 . ���	 ��,"��� X�' [s
�5� Y9�= +jR 
"%� #�� Z-� 3- cR X
% ��= F�' s
	�
�
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!�� K�§ XR bq :  

 1
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2
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2
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2
21 ≤+
dd

Add
 (8) 

 ~���� 3- s�DB UE	
N PE������ P�
�� 
�N,- X,�	 
-D�� /D�
��� ;$. #A��4�F.  
 ��&
��� UE4�(7)�J D	l4 c��
�� +H �
v�5?� /�
�G XR �
v�5?� ~�� 3� )
E���?� ���5 &
��J� &
�x ��
 . X=  9t�

d1 → ∞ /�
�k� X�' �$� [(dB) <= )�a4 10 log(d2
2
/A) . �t
�x }E- �AB�,� �E���
J Y5�' #�$�2

m 100 /�
�k� X,�4 
 F�' Dn� �$> ��9�5dB 20 �'
�- y�� m 100� dB 40}E�� 3- Dt�� 
�-,�9% �'
�- y�� .  
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D$��� ρnonspec  

 �	
��Jρspec 

�ρtrans ~���� y�� ZN�,�� /�D��� 3- #�
"��� Slh� 
"�R y�� F c��
- �
��5
% ����	� )#�
"�- ( �
 Z- �N
��� £�§ XR ZN,�	� ��-
��� �
v�5?� �9�"�� K'�,�- ��,� y�� ),1n� 3�u Y5�' [\�,��� y�� [�AB�,�� )�G P�
	

�N���� K9�]:  
 

1=ρ+ρ+ρ nonspectransspec (9) 

a	 
¨�E	
���� YEj ��,"��� XR ,. Y� �� �9�� P�� ����© �
w�
�'� Zw� d�	� K'�,�- +H 
�	D� c$�� �:  
ª  ρspec :c��
�� �
v�5?
J «
k� #�� ,. c
7��� C,A��� y�� s�&
"��� ��
"��� 
v%R� . d�	 [S
��- �AB�,� �E���
E'

����,J ������� /�D��� D	D] P9��	
' �
��5� ��-
�- ) «�,k�� c��
�� �
��5?� �	��* y�� D"��4 ����
�
AB�,�� �9L
J
A��� .( ~���� �
v�5? F�E- &�D�-� DB,	 ? Y5R D9J����E	
� YEj s�Dt ��,"��� CD`��	�   �

 )D�	)��� (S
���� ~��I� P9��	
' �
��5� P-
�- 3- . �	
�4 �
��	�ρspec- 
�R y��  /�D��� V
�W� P-
�
 P9��	
' P-
�- +0�� ��9�5 ������� /�D��� 6 +0��� $GR CD� }�x eb�T' 3!k� ~���� +M��� ��9�5

6 �
E��?� . /
M
���� /�D��� y�� KE��	 Y��5 
-8� X�' � 3-� g
����?�� �
��5?� �	��* y�� +G8� D"��	�
+H 
' Z- #�� K'�,�	 ?� e�	��
����-? �9w.  

ª  ρtrans :D9t� ¬9J ~�� Z- ��-R ~��� P9��	
' �	
75 C�D`��
J /�D��� 3- P�
�� Slh� g
�t s
9LDE- 3�u .
 �B$"��� �E���
J s�DB D��- ��"��� ZN�,�� 6 Zw,�� XR +H)�
�
��5�� /&D��- �9�9J ~��R [3!G ~�� (

� �"9N [s
9�"�- /&DO �"9N C�D`��� bq \
��
J� /�D��� �9E	
ρtrans .  
 /�D��� �"9N P% K�] XR bq [RDE��  9t 3-�ρ r
!�� 0 ≤ ρ ≤ 1 . ��&
��� X�J &
���?� <= ,�D	 
- DB,	 ?�(9) 

 g
�n o-D`��� ��= K�T���ρnonspec 3- ρspec /�D��� ~E14 XR 3�"�� 3"' ρtranss
9L
	l9' ~9T: +H �$.� �E�
�  . 3-�
`��� �
��	 �P�
�� Slh� )
�= Z- c��
�� Slh� 3- /
j
E- c��
�� +H Slh� «�:  

 specnonspec ρ−=ρ 1 (10) 

 �"9��� X,�4 s
9�"��ρtrans s�DB /+0: s
E�
H ) 
A�"9N }E- ��
�G� /�
�k �E���
J s�v"'dB 10 X,�4 ρtrans = 0,1.(  

 E
,Fρspec  

ρspec��� /�D��� V
�W� P-
�- ,.  �
��5?� y�� ~���� �5,!G +M�4 ���
	 ��� c��
�� �
��5?� P-
�- y�� KE
c��
�� .c�
�	 ,.�:  

 

2
sspec ρ=ρ (11) 

 )
����� �
��5?� P-
�- y�� P1� 
�5�' [c��
�� �
��5?� P-
�- g
�t D��R P9��	
' P-
�- g
QJ RF 6 ρs.

  
 FsRR ρ= (12) 

u� g
�t 3�ρs�N���� 3- :  

 

( )[ ]15.0,expmax
2

2

1
g

s
−=ρ (13) 

 9t:  

 ϕ
λ
πσ= cos

4
g (14) 
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σ� P9��	
�� )�8� �
���� PG�& ��w,�� F�,��� 3� ~���� �5,!G {
�4�? c�
9��� ��
�?� �. ϕ r,���� �	��* �. 
~���� y�� c&,"��� 3- ��
�- . Z���� �"9N�0,15 ��&
��� 6 (13) s�DB /+0: d9N y�� ),1n� X�& ),] ��� 

/�D��� ρs) .��8� Dn� +!	��5,!k� /D	Dj ~��I� �E���
J �
v�5�� PN8� 
	D���� <= �.(  
 ��&
��� 6 c��
�� �
��5?� P-
�- g
�t ���	�(13)D9����� D	Dj  . 
	&
���� �	��l�� y�� P9��	
' P-
�- D"��	�

��J
v�� �9L
J
A���g
����?��  . y�� &
"��?� ¬�	��������	 U.
�?� 6 P9��	
' �
��5� ��-
�- g
�t bq Y5R 
 D�� /�
j(� �"9N g
�t D�� g
����?� X���& {
�!�� +�- ��D�. 6 y��
	 XR bq� C
� YB,J c&,"���� c*�,���

PE�����.  
"��� o5
% ��= Y5�' [��,"��� �9E	
���� ��9E��� s�
75� /�
j(� ���D�J F�' ¬�4 �B$)�,��� )
�= 3�u� ( P"� 3�u Y5�'

F�' c*�,�� ;
�?� 6 P9��	
' P-
�- <= s�&
���� �	��
�� �
�
��5?� Z9^ g
�t )�G 3- F9�E4 . ��D�- X,�	 /&
��
 ������� ��j8�� r,���� c,��- 6 �L
J
A��� Y���� X,�	 
-D�� P-
���)*8� ¬T��� P�j 6 [c,���� �R ��2 ( �%R
 c,���� y�� s
	&,"� �L
J
A��� Y���� X,�	 
-D�� Y��5 P-
��� 3- s
	&D�)������ �R 
­8� ¬T��� .( �
5
9J /D�
N 6�

 b�t <= c*�,�� Slh� Y��	� [g
����?� cRlh �l- /&
� m
�. X,�	 [&
�J8� �9M�M"
�1�� "c&,"��� Slh� 6.  

!���� P3  
 !�=,$�G ?
6�2� !�
�� 3�0#�RF  HI���� (@
J5� K )M3I�� ( HO�P���-)�Q��(  

 �$-�C�� K ���0")GHz 3,5R
S *.��� 9�. T(  

1410-03

0.0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

0.8

0.9

1.0

0 10 20 30 40 50 7060 80 90

  

 ����ρtrans
  

ρtrans
 

�� SlB ,.FL
n� �� P�
�� ��N
��� /�D� . �"9N XR K9E���� �$. 6 V
��	�ρtrans �	��* y�� D"��	 ? oJ
M ��D�- 

>�G ;��
- D�� {
�!�� �	��* +04 ? �AB�,�� XR� �AB�,�� <= �E���
J )
��(�.  

�UFVP�� W
#2  

(1   ��&
��� 3- ��`��4 3!k� ~���� �
v�5� /�
�G(10) �?&
��� K	
� 3� c��
�� +H /�D��� SlB &D§ XR y�� 
(11)� (13)� (14).  

(2  Lscat �B,�� ),� y�� �t�
: D"��4 ? λ �� X,�	 &&
��� y�� D9t,�� &
"��?� XR +H [ρnonpec . ,. �$.�
ZN,���ª&&
��� y�� D"��	 ? ��-? �D1- ��,�� [/�D��� c&D� ��,� ,. ��,"��� �$. X=  9t .  

������� 	
���) 
�������(

�
��

��
�
� 	


�
�


 �
��
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(3  �� ���� ����	
 ��
�� ��������� ����� ���� �
��� ��� ���� !"�#$�� �% &
 '(���
 )*� )+, �
�
-(�$�.� ����/�� !"�0 .2-.�� 34��
 )* ��+��* 56� ��7�� 3/��8 �
�� 39:;
 3(-	
 <= !��> ?/% 3�@% -�,A�� .

) ��7� 3+7$��� ��$
C D�" ��
E �F�"��9F " D��#�
 ����/� !"�0 H
�� IJ�-�K� LM N��O��� &
 I3/��P�
Q �R(A� H
 ��
�� ��S,T�	
 ��U-
 V�
	/� !"�0 ��W= X ?���$.(  

(4   3��$�� LZ��/ H
�(3 2��F [�F �A ��-\/ �8����� 3��#$� 3+7$��� ]�( 3���^� X ��;
 ��6 ����/�� !"�0 �% 
�������-(�$�
 �
�� _�RQ �M% `-�;E  . ����/� -E���� 3��9�.� 2��ab� 3+7$��� 3c��$�� d�6 N��O��� H
��
)8e��� . �f�:;Q -�,% �
�� ����� 3���g ���-R�� H
 I2��ab� 3���hi� 2����� j9k T�:�9� ��9�.� &#c9��

)3�9K�;��� )7.� T��W% Il(�

 �
�� �%.(  
(5  3��g�+��� 3���8 ��U-.� )* ����/�� !"�0 '�> � . 3���P� d�6 '�> �6 3���^� X�	
�� �
�� � !��g= H
�� I

 �^�nl
r

r

⋅ ����.� �^� ��g nm

vr

⋅�m�#��� d��E  . H
� ?/n( op
� !"�0 )* -8U ����/� ��:
 !"�0 ����8���
D�" qf�= . o�K�-�(�� &
 3��g�+��� '��r &F��E �� T�4 3E% j9k 5s+E-t ?+a ���"�0 p�	E !"�#$�� �% ���

3k�K�.� 3��7+��.  

3.1.2  	
��� 
�� 

����  

 3������ X 3���.� o������� u+QITU-R P.1411� )3v9+.� o������� &��-
 ( �^� pk w�+.� Tf8 2��ai� x�-�8� �%
 2y�#�
 ����/� 3��U �+:E �% H
� gg-��� x��$� zgA�) ��$� 3�(�K= 2��78dB 40-20 ( o���-	/�� 2��78 ��
Q �
�$k

�( �% T�42)+, {+.� x . 398���� |�$+�� g��
 j9k }F���� 2��7P� d�6 �n( IV�
	/�� u6�Q of
�	
 &
 T�^� �6 �#,�
 {+#9� 598���� �
�~� j9k 2�fk ��Eg�-�� gg-���� {+.� X)3�98���� ]Z��^� .( 2��78 H
 39797, 2��7P� 3��0 H
��

 ]Z��^�)3�(�, o�/��� -(���Q �
�$k (%{+.� Tf8 -�
 �
� 2��7O, � . )7.� x�	E {+
 H
 -�,% ��$6 ��
E �
�$k�
 Tf8 2��.�� 3�-	$.�� 37
	$.� o�)7.� H
 o�	�#t 2�k�-
 [��� N�g �
 3���� d�6 T�@= �R(A� H
 ��
E ��( -a�+.�

{+.�.  

4.1.2  ��
���� �������  

 ��-#9� u	
 &F�
 <= 3+7$���(Tx)#9��  �+��7(Rx) ���4 u	F�.� HE�6 u� -:+�� ]8 )7
 g��� T�#�4� ��
E I
 �$k �+��7.�� ��-.� ���E ���� ��	��� ��;Q�� ��g ��
E ����/�� )7
 X &�E {+
 �, �% X 39�#�.� o��#�4�� &h

{+.� ��	��� �S�( p	E ��� 3��$�� . �
��� u+E�15��$~� �
���  3��^� d�~  3�g�	.� X 39#	�7.� g�$+�� _-	E�(15) . X�
3�$	.� 3��$.� X ���m ��� y�#�Q �% 3��7
 3�K�A� �E��R��� �% `-�;E !"�#$�� ��6.  

 'Z�	�� 3��/ �$k ��	��� ��;Q�� j�	E�hLoS3������ 3v�:��� :  

 

rx

rxtxLoS
txLoS

r

hhr
hh

)–(
–= (15) 

��4:  
  htx :  `�A� ��� x�( ��-.� ��;Q��  
  hrx :   3(�7.� �$k �+��7.� ��;Q��rrx  
  rLoS :  'Z�	��� ��-.� u� 3(�7.�.  
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u���/ u� 2g���.� w�+.� g�k -E��Q H
� I]���.� X [\�$
 �
�� 2�k�+�
 w�+.� �% `-�(� �"=� . g��� T�#�4� ��
E�
�����, -:+�� ]8 )7
 X ��	a:  

 ∏
=

<=
r
b

b

LoShPLoSP

1

)height(building_)( (16) 

 ��4br2��+	.� w�+.� g�k j9k T�E .  
o�#9	
 �fm ]�7+�� !"�#$�� ��6 �9��E�:  

�  α:   3�9
�� 34�7.� <= w�+.� �S��vQ ��� 34�7.� 3+7/)��;Q��� Hk -\$�� _-:�(�  
�  β:   3�4�7
 2�4� �, X w�+.� g�k ]���
)w�+.�/(km

2�  
�  γ:  ��Q g�r 2)v�
 3#�Fw�+.� o�k�;Q�� &E.  

 2)v�.� 3#���� Tg�	Q Iq-��.� 59E�� &E��Q <= 3+7$��� γ ���#�4� -�,A� {+.� ��;Q�� )��9�% .( �
��� u+E�4 y��#��� �+� 
 u�α� β . u9
�9��4 % (�4 � ( 3#�F �;/ ������� `�A� ��� �$k 3��v��� 3��$
 �;/α g��� &F��.� H
 H
�� I

 ofk�;Q -�,% �
��� X )7.� 3E�� �$k4 % ( �
��� X ?$
4 � .( 3#9	#9� H
� ��α u��O.� u� y��#��� �6�4� 
 �
��� X u�K�.�4. u9
��� X ?7;/ �6 w�+.� ��;Q�� ��, �"=�  4% (� 4� ( 2)v� ��+
 2�	� �c^� T�#�4� ��
E

)+, �4�� {+� ?$
 �F%.  
���s �
4  
�� �
����
���������� �!��" #$  

 %&' (" )*�+,�'
$��� �-./ )" 01�2  

1410-04  
 3#9	.� q��-�Q I��;Q��� 3���k w�+.� &F��
 <= 3E-R^� ?+a 'W�$.� &F��
 H
 T���/�� <= 3+7$���α u� 0,1� 0,8 q��-�Q� 

 3#9	.�β u� 750� 100������ j9k .  
�-	�E� 59E�� T�#�4� &E��Q _P(h) ��;Q�f� h 3#9	.�  γ�����, :  

  
2

2

–
2

2

e

γ

γ
h

h

 P(h) = (17) 

�( �(

���� �	
� �
� 
��� �
� �
� 

�	��
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5.1.2 3
45�+ ��"6���7�  

 �/�, �"=α� β� γ�����, -:+�� ]8 X 3��v��� �7r �Z�$k 3
�9	
 :  
 ?��W ��	a ��-
 `-�;Ekm 1 �6g�k ��+
 x�( β6 �/�, �"= 3�	��-Q 3
+a X 3#\�$
 w�+.� d� . ]�( ��|y� �% ���

 d��Fα59E �#, �4�� -�
�9�, X 2��+	.� w�+#9� &F��.� g�	�� ��
E I`�A� H
 j�v
 :  
 βα=1b (18) 

 ?��W )7� '9	�E �#�( w�+.� g�k ��
E �������rrx (km)�����, :  
 br = floor (rrx b1) (19) 

 3��g �98g% ��4floor 3�g�	.� X g��^� H
 ���� g�k !��g= ��#R� (16).  

 ���� ���	
� ��

 ��� ������ ����� �� (LoS)  ���
� �� ��!rrx:  

 "�#$�1 : w�+.� g�k ��74br u���$�� u� 2g���.� Tx� Rx 3�g�	.� T�#	���� (19).  
 "�#$�2 :
 �
�� 2�k�+�
 w�+.� �% `-�;E u���$�� u� [\�$Tx� Rx 3�g�	.�� w�+.� �6�$k &�Q ��� o�(�7.� j�	Q� I

3������:  
 ( ) ( ){ }1–,....,1,02/1 rri biid ∈δ+= (20) 

 ��4δr = rrx/brw�+.� u� 39��;�� 3(�7.� 56 .  

���s �
5  
 8�!�4�� 9: ��4��
; 	
��� (<�"Rx �=
4" &�' rrx 8�>�� )" Tx  

1410-05

Tx

0 d
1

d
2

d
3

r
1

r
2 r

rx

Rx

  

 "�#$�3 : 3(�7
 �, �$kdi ��;Q�� g�> Ihi �c> �% H
� u	
 {+. ��	a-:+�� ]8  (LoS) T�#	���� di X �E�+, 
3�g�	.� (15).  
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( )
rx

rxtxi
txi

r

hhd
hh

−−= (21) 

 "�#$�4 : T�#�4� j�	EPi ��;Q��� H
 �F% ��$�	
 {+
 ��
E �% X ��#�.� hi 3������ 3�g�	.��:  

 

( )

22
2/

0

e1

d

γ−−=

= ∫

i

i

h

h

i hhPP

 (22) 

 "�#$�5 : g��� T�#�4� j�	E��	a -:+�� ]8 Plos,i &F�.� �$k di3������ 3�g�	.�� :  

 

{ }∏
=

∈=
i

j

jiLoS ijPP

0

, ....,,0 (23) 

 "�#$�6 : 3#�F H
 �, ���-�� 3�#,�-��� 3��v��� j9k T�:^� [�EPlos,i ���-��� �
�	
 3����� Wi j9k �#�	E ���� 
$��� 3(�7.���-.� <= 3+7 .3(�7.� �E�y�� �S��� �E�y�E 3�94 X 2g���.� w�+.� g�k �
�	.� ��6 5k�-E�.  

 Wi = 2i + 1 (24) 

 "�#$�7 : �6-�F }:/ 3�9P 3��9�.� 3��v��� �7rrrx j9k 3c��$�� ������� w�+.� [
� 3��-.� o��#�4�� &#� I
��9�9� 3�#,�-��� 34�7.� ���4 V��%w�+.� 3(��, X ����-R
 o:  

 

2

1

0

,

r

i

b

i

ilos

r
b

WP

CP

r

rx

∑
−

== (25) 

!"�#$�� ��6 &����� x-W 2�k ��$6� g����� �	� j9k 3��#$�� d�6 ���$Q�:  
�  !"�#$�� ��6 X 3�K�A� �E��R��� X -E�vQ �% ��+�k�� u	� �8�E � . �=� o�)v��� �	� &
 �% �K���� H
�

% H
� ���
% 3	R� ����� �/�,���9
 )meQ �~ ��
E � . }����� !"�#$��� 3��P� �+$��� o���F �E�� H
��
 ]���
 }��� 3(�K= 'E-W Hk I�E��R��� 3#\�$
 )* `�% o���	
 2�k�F &
� !"�#$9� 3�Z�:4i� �Z�:P�

!"�#$�� ��6 X ��+�8f� �	R8 3��/ �, �� �#�( �c^� ��;Q��.  
�  k�;Q��� w�+.� 3(��, )v�Q Hk 3;9�� o�6�t�� �4e� o��+$��� ��
Q I������� �-8% <= 3��$
 H
 )+, �4 <= �S

-8�� d�t��� o��+$��� . 5Z�:4i� !"�#$�� &
 ��
�� N|f�Q � w�+.� �% 37��.� w�+.� o�k�;Q�� &E��Q H
 j9c�E�
]�7+�� .��	.� 2�k�F 3Zyc�� 39
�.� d�6 H
 )+, ]7F �4 H
�� 3k�#� ��:O��� -v�% 'W�$
 <= o�

3��$
 �
� 2g�� o�#9	
. 
�   ?	+��E ���� &E����� �;/ of+��7.� ��;Q�� &E��Q &+��E ��� w�+.� q��� x�( of+��7.� �,-Q &F���� X�

w�+.� ��;Q�� .`�A� <= 3+7$��� ���m ��;Q�� �$k ���Q of+��7.� �% `-�;E !"�#$�� X� .��#�E� -8U �4 
'W�$.� _f�8� j9k ��RE% D�" }F����� Iw�+.� &E��Q H
 of+��7.� o�k�;Q�� ����Q X. 

�   3�$�Q LZ��/ &
 3/���.�� 3��v�9� ������ ��-E��Q 3�
����P�� 3:9O�7.� 3�E-��� 5�	Q-m% &+�Q j9k 3�+�.� 3	aA� 
 3����^� o���	.� 2�k�F) 2-�;�� -\/�6.1.2 . u+Q� o�$�k �	+� '9	�E �#�( '�Fg w�+.� ��;Q�� 59E�� &E��Q �%

�f�
 2)v� 3$E�#, I2g��� 3��$
 3������ ����$Q ��4 o���	.� . LZ��/ j9k T�:�9�� ID�" j9k 2�fk�
 2-�;�� X 3$�+.� 3��v���6.1.2 |�� �#, )7.� -E-r !"�0� w�+.� &F�
 2�k�-
 &
 3�E-��� '�+�Q �� I |�-�= X

3�����.� o���P�. 
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6.1.2 ��	
���� 
������� �� �����  

 2���.� 3
9#.� X 3E-R4 ?+a 3��$
 X w�+.� q��� o�k�;Q�� 5#,�-��� &E����� j9k 59E�� 3v�� ��+ W)�-;��
 .(
� 3E-R^� 3��$.� X !"�#$�� o�#9	. 3����.� [���� �/�, d�6 o���	.� 3k�#¡ 3+7$���������, 3�7�Z-�:  

α = 0,11   �β = 750   � γ = 7,63 

 �f
��� u+E6� 7!"�#$�� H
 3:9O�7.� LZ��$��  . �
��� u+E�6 �
��� u+E� ��-.� ��;Q�� 3���� 3��v��� 7 3��v��� 
�+��7.� ��;Q�� 3����.  

 3�9
�� 3��v��� 3E�� �;/� 5���A� �
��� �;/ �~ o��+$Q !"�#$�� ��6 5�	E T�#	���� 3:9O�7.� LZ��$�� �S��	Q ���
 3�$��� 3�9�:;��� 2�,�¢�-m% &+�Q��	���  . ]�( o�#9	
 �fm j9k ��g�#�k� 3��v���� o��+$��� ���E ?/% !"�#$�� ��6 2�Z�(�

3��$.� �e�� o�
�9	.� ]7�% -(�Q 3�E-a �-R4 &F�
 �e� '9	�E �#�( �6-E��Q H
� .���	.� �% <= ��-\/� g�	�A� 3�mfm o
���9+��� 3��P� o�#9	.� T���� g��k= H
#.� H
 ��
E _�� �E�y�
 �
�� 2-7��
 ��+�%/ H
� ��� 3;9�O.� ��.�

3(�-	.� )* &F��.� �	� X 3��v��� [���Q �$k &�-#, �~�#	��� . X 3��v��� [���Q j9k !"�#$�� ��6 T�#	��� -:��E ��
� �0=� I2�4�� 3�98��$��� o�)meQ D�" X �� I2)+, o�
+a 3��v�� �Ef8 2�k H
 3�Qe�.� LZ��$�� &h H
.  

  
���s �
6  

 ������ ��� ��� ����!" ��#$�%��� ��	
��� �&'(m 7,5  
 
������� ��� ��� �)%�*5* 10* 15* 20* 25* m 30  
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���s �
7  
��� ��	
��� �&'( ������ ��� ��� �)%" ��#$�%m 30  

 
������� ��� ��� ����!�*6,5* 7,5* 8,5* 9,5* 10,5* m 11,5  
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7.1.2 %�$� *� +����, +�	- .��/�)�� ��	
��� 01��2  

v��� �EyQ �% 2�k�F o��� 2�k u� ����8�� of+��7#9� ���Q 3E�98 3E��#	
 �ea H
)+, �
�� 3�� . Tf8 H
�
 3�$�Q o���74-m% &+�Q d��F ��-.� 5Z��~ ��;Q��� '9	�E �#�(� I�f�
 ��	��� m 30 �6-�F }:/ 3�98 X 3��v��� �E�y�Q I

km 2 3+7$� %44 3+7$�� 2�4�� 2�k�F 3��� '9	�E �#�( %80 3+7$�� u���� '9	�E �#�( %90 o��� &��e� '9	�E �#�( 
� �=� £42��� 3Eg�-(= 3E¤� ��#R� ��:�:8 2�k���� o��¢� |���/� [�E . 

 H
� 3�Z�:4i� 3�4�$�� H
 39��7
 3�$	.� 2�k���� o��¢� }9�� d�t�� -:+�� ]8 o�)7
 g��� o��#�4� �% `�-�(���
�FA� j9k �4�� )7
 g��� T�#�4� ��74 . �, ��74 ���% u	�E�PLoS,i 3�g�	.� H
 (23) . g��� T�#�4� �+:E �Z�$k

 g�	� �FA� j9k 5Z-
 �4�� )7
m¥��, 39#�¢� 2�k���� o��¢� H
 :  

 

( )∏
=

−−=
m

k

kiLoSiLoS PP

1

,,, 11 (26) 

 Hk 3K�	����� -�,% �% uQ�k�F u��� 3����� 3��v��� [���Q H
��PLoS,i 3�g�	.� X (23) 3�g�	.� X 2��	.� �S�#��� (26) 
��� |�-�i� X 2-�;�� X g��5.1.2 . [�F H
 3#�F �
� '9	�E �#�( I2��ai�� -E���k H
 o���P� ��+Q� 2��-K I 1 <= 5 

 ��4rrx2�k�F 3�� �, <= 3(�7.� 56 .  

2.2  3����� 4�	
�� �� 5����� +6����  

3
�P�� �6�E�yQ H
� ��� T��$.� g�k H
 ��)�, �> �F ��caA� Hk [��$�� �c^� �=. -(�Q ���� ���-R�� H
 ������� 
 !"�0x�m�
 3+E-��� of+��7.� 3��4 X IN�\$�� ¦
�6 �% <= ��-\/ I¥�+$�� |��v�� Hk LQ�$�� u6���� ��
� )me�� '9	�E ?� 

3$�	
 3
�8 )(��� 3�(�, )* 2�4�� 2-ca pk ����/�� �	� 2��ai� 2��F d�$k �+:Q ���4 §9+E �F I��-.� H
.  

����� ��	(km)

 �
��

��
��

(%
)
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� 3�$�Q �#�	Q 3�Z�:���� 3���g �$�� �F-m% &+�Q �#�Q o���	
 �k��F N�O�7Q� 2���.� 3
9#.� X ���9� �� X ��	��� 
 £4 §9+E �
 �% ��caA�� w�+.� &�h%5 ��
 H#K 3	F���� w�+.� H
 m 1 000 �c^�� -me�E 3Ey,-
 2�k�F 3�� H
 

¥�+$�� |��v�� �+7� .� 3�¢� �	K� �F� �$k I3��$.� X {+
 j9k% ��� j9k 2�k���m 40-30 I��
�#k `�A� ��� x�( 
{+.� D�" X ��+�8� 3��/ �% <= -:+�� ]8 )7
 T��� H

% �"= �c^�� -me�
 )* {+.� p�k�� . ��+�8�� ¨��/ �/�,�

 `-	� 3#\�$
 3�	��-Q 3
+a X &�Q {+.�� 3��P�m 1�, ]�7
 H
 3��/ j9kA {+
  . �c�9� 3E�©.� 3+7$�� )v�Q ��
 x�;E ��
 X ¥�+$�� |��v���m 1200?�9k �6 �
 j9k 2�k���� 3�¢� ��;Q�� |���= 3�E-a ��+E-�Q  . �+:Q 39E���� o�E�.� X�

`�A� |�$ª� �+7� �c�9� H#�S.� �+7�� 3�K�A� �E��R���� �-8A� w�+.� .¥�+$�� |��v��� �c^� §9� �F� 3��$
 X 
 ���4 3E-R4 ?+a%25.  

 �$k o������� �E-�%GHz 42 Hk LQ�$�� u6���� 3��g �E���� "3�9¢� ��caA� ." �#, ��, ]���.� u6���� �% �RQ� �F�
 3������ X ��	F��
 �6P.833 ITU-R <= �g�E �C o�)7.� 2g�	�
 2)+, o�)meQ g��� &
 H
� 2��ai� N��	/� H
 o��4 

N����x���A� �-r ��� �E-�� �+7� H
y�� &
 )v�Q  . T�#	���� q�c$� d�6 N��	/�� o��4 ]��-Q D( H
� ?/% �RQ��
 3(�7
 �#S$�� �:;Q u�Z��6cm 60≈-�,% �%  .u6���� ]��-Q D( X ����7� ��$7r �k�+���� p,% �����-Q ������� u� �F� .

�~� 3�Z�$m 39�
�Q �% D�" «	E�_�-\�� d�6 X o�
�P� ��v��� �#7Q �F w�

 _f�8�� 5Z� . �$k 3�-t �$�� �F�
GHz 42 3(�7
 �#S$�� �:;Q u�Z��6 T�#	���� cm 62��$��� X H7r T�#�4�� u�Z��~� H
 �, X ��¬��9
 ��)vQ  . �$���

 d��F ��$��� X �7, j9k ��
�#k T�:^� H
� ?/% 3F��.� ��caA� pk ����/f� ��A� 39E�W o�������dB 10.  
3E-�#�9.� o���.� T��W% �$k ���E�a ��caA� �+7� u6���� ��
E� . j9k u6���� T�	
 �#�	E� ����� ��caA� ��/

 T�	.� T�#	��� H
� H
�� I)7.� 3��$6� 3��W-��dB/m 5-4 ����, ) �$k &+�Q 3��4 <= �:E u6���� �% H
 [*-�� j9k
 §9+Q 3$�	
 3#�FdB 40-20��
�#k  .( 3������ X g����� !"�#$�� T�#	���� j��E�ITU-R P.833 u6���� 3��g �E���� 

�� |��v�� Hk LQ�$��¥�+$.  

3.2  ��7�89� 
���: ���; �)��1  

3����4 3E-R4 3��$. o�/��� 2�k�F N�O�7Q 3��4 3���g H
 2�9�
 LZ��/ [7��� ��6 X N��E . u+Q ��� LZ��$�� d�/g% g-Q�
 �8����� 2��F <= 39
�^� o���.� 2��F 3+7$9� 5Z�:4= &E��Q D��,� 3��v�9� 2�Z�7�� ����/�� o���U(CIR)���  �4A 3+7$

�8����� o�6�E��$��.  

1.3.2  ��	�"� <�*  

 �S�4�7
 3��$
 Hk 2��+k 2���O.� 3��$.�km 2 X km 12���.� 3
9#.� I-�7�/�
 2-K�4 H
  . 3mfm H
 3��$.� }�e�Q
3��¢� w�+.� H
 �K�� �
�� j9k% ­��+
 .;Q�� j9k &K� ��-
 N��O���� 3��v��� o��Z�:4= [���Q ® �F� d��F ��15 ��-�
 

{+
 j9k% H
 .u���	�� HE-8�� u�$+.� �4% j9k% &K� �8���9� ��-
 N��O���� �8����� o��Z�:4= [���Q ® �F� . ® �F�
 d��F ��;Q��� 3��$.� x�( 3#\�$
 3
+a X )7.� 2��78 -E��Qm 2 .u��k-( u�k�#� <= ¨��$�� [�7�Q ® �F� : ¨��/

��/� ��7�� j9k%������ ���7
 X ¨.  

2.3.2  �&'#�"� ��7�89� 
���=  

����/�� ��74 X N�O�7E:  
�  3������ITU-R P.526)v� V���
 pk 2�4�� 3��/ �" !�-	/� &
   
�  3��$.� T�4 !�-	/��  
�  {+.� T���=  

�  ��7�� 3E"�;/ = 5  
�  {+.� �8�g -Z�7P� = 2,1 dBm  
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�  ����/��� o���
	/��  
�  ;
 3+m�3��gy
� 2g- .!�-	/�� !��g= &
 -:+�� ]8 )* o�)7
/T���i�  
�  ��7�� 3E"�;/ = 5  
�  �� _�-ª.� ����	3$�P� ���¯� = m 0,001  

3.3.2  0%��
�� ��7�8� 
���>� ��	
���  

 T��°� X g-E1 gg-Q �$k 3��v��� o��+$Q j9k 3��#$.� ����/�� o���U g�k 2g�E� ?�( -m% ���� ��.� GHz 2,4 . `-	Q�
 3������ o��+$�� ���+W )7.� 2��78 X o�(f�8��ITU-R P.2562�4�� 3��$� .  

°�s T��2  
?/�� 
�@A�BA� �!B C%D ������� +� E!"� ITU-R 452  

����F ��7�8� 
���= �� 0�;�* �	���  

 

3-point/Rec. ITU-R P.452 

Clear%
LOS 

% 1st
Fresnel % Over

Clear%
LOS 

% 1st
Fresnel % Over % Through

45.57 9.03 45.40 45.57 9.03 45.40 45.57 9.03 24.85 6.86 13.70

mean diff
std dev

mean diff
std dev

4753 points 4753 points

mean diff
std dev

mean diff
std dev

dB

7.51

1455 points 976 points

% Over % Around

45.57 8.21 17.99 3.85 8.46 15.93 0.00

mean diff
std dev

5.05 dB 
1 .45 dB0

points

mean diff
std dev 12.54 dB

points  
����/�� o���U !��gi ��
E �% H
� ��+��* )me��� ��6 §9+E ��4 I)7.� 2��78 o��+$Q j9k ��)�
 ��)meQ 3�(�Ki� dB 18 X 

]���.� . 2-me�.� 3#\/A� |�g% j9k )+, -m% ?� �n( I3��v��� o��+$�� 3+7$��� [��4 )meQ -
A� ��~ ��
E � �F ?/% u4 X�
��� �
�� 3��#$�� [S.� H
 ?/n( ������� �8�������.  

4.3.2  0%��
�� 
�11%�� ��	
���  

 o�gg-Q �$k 3��v��� ��74 ®2,4� 5,8� GHz 283��#$.� ����/�� o���U �, &
  . �
��� u+E�3 �$k 3��7¢� 3��v��� 
3mf��� o�gg-��� .�$k )�
� p,% ��
Q 3�-	$.� o�)7#9� 3+7$��� 2��7P� �% 3\4f
 X 3�7�Z-�� N�#�6�� 3��/ H#
Q� 

 gg-���GHz 28 . gg-��� �% ���GHz 28 3��U <= D�" &�-E� &K��.� H
 )�
� 3+7$��� ��)�, �F% )7
 2��78 H
 w�	E 
����/��Ij9kA� o�gg-��� �$k ��)�, p,% ������/� �+7Q w�+#9� 3���7�� 3/��P� �= ��4 .  

 �
��� X g-E�8 % ( ����/�� o���U ��9��� 3E�©.� 3+7$��gg-Q �, �$k 2�Z�7�� . �
�� 2)+, 3�;���� o���
	/�� p�	Q�
�FA� o�gg-��� �$k ±�8 . gg-��� �$k ]�( ��)+, ����/�� �+:E�GHz 28 . �f
��� [7�E�8 � (�8!  ( X 3$�+.� LZ��$��

 �
���8 % (������ j9k I������ ���7
 &K��
� ��7�� j9k% &K��
 <=.  
g 39���
 ��;.� H
� I3$�	
 3��U g�7Q �F ?/% H
 [*-�� j9k I?/= ��4 2�Z�y�� )7.� 2��78 X 3���, ����/�� o���U 3�@% 3���

2)+, 2�Z�y�� )7.� 2��78 �/�, �"= �ea o�" ��
Q � �F �Mn( I�FA� j9k 3��v��� `�-*A . �
��� u+E�9 ����/�� 3��U 
g-Q �, �$k ��7�� j9k% 3��/ �
� 2�Z�7��g .��� �$k ����/�� )meQ D�" �K�E���4�K� -�,% �
�� 3���	�� o�gg-.  

������ �	


 ������ ���

�� ������

������ �	


 ��� ������

�� ������

 ������ �������� + ������ +!"#� $����� +%��& '����� 

 ���� ����	�+
��
 ������
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 N��Q �% H
� ��
.� T�4 !�-	/��� 3�;���� o���
	/�� �% 56 3�/��+�� N��-�� H
 3\4f.�� 2-E�°� 3�7�Z-�� ¨��$���
 3�K�� 3�(�K= 3��vQ) H
 �F%dB 102�Z�� )7
 2��78 I (o�gg-��� &�h �$k .p�	Q� �-8A� o����� ) I{+.� T���=
����/�� Ix�( !�-	/�� (3��v��� ��7^ 3+7$��� )�
� ��/ea �F% . o�" o�)7.� £4 ?/n( �8����� 3���g �$	( D�" &
�

j9k% �Q� o�" ��
�Q !"�0 N�O�7Q �
�$k 3��8 �ea o�" �+:Q �% H
� )+
�� u6����.  
  

���s �
8  
4�2G 0�D�) ��7�8� ���=��	
���   
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���� ������ �� ������� ��
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����#��
�� ��$�%&���
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*
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/���0��
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2
��
�*� -34� �5��� 60
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������� 	
���
�� ������� ��
���� ������ �� ������� ��
��)����(�
 ��!�7'��� 9:;< 

 �� ������� ��
�� ������� 	
���
�� ������� ��
���� ������)���� (� 
 ��!�=����� >	��� 

������ (GHz)  

� ( 
�� ������ ����� ���� 
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���s �
9  
H	!�� I��� J��8 ��� 0�D�!�� ��7�89� 
���= ����� 0�D�K�� E!"� 0��!B  

1410-09
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5.3.2  ���L� �)��1 5D��8 ?/��  

 �
� 3��P� o���7^� |�-�= �$k 3;9�O.� ����/�� o���U )me�� '9	�E �#�( 2)�.� LZ��$�� H
 g�k Hk 3��^� 3���g �;�,
�8������ 3��v��� H
.  

�  v��� j9k )+, )meQ |��aA� T�4 !�-	/��� ��U-.� V�
	/f� ��
E �% H
�3R;O$.� o�gg-��� �$k 3��.  
�   gg-Q �$k ��)+, ��
E ����/�� �% u+QGHz 28]�(  . 2�Z�y�� )7.� 2��78�) H
 p,% 2g�kdB 25 ( d�~ 3��7$.�

�8����� [���Q �$k 3���� d�6 3���g �� ?/% ��� I3��v��� )(�Q �$k ��/ea �F% �S9	t 3����.  
�   3E�U-.� o���
	/�� !��gi 5Z��6 N�O�7E �
�$k 3��8 3	F��.� �8����� o�E�� j9k )+, -m% �8����� 3��0 X

56�t� . ��% H
 o���
	/�� 3��0 �� �-R4 �E��$�� X 3�6�t� o��Z��6 N��O��� &
 3���m 3
+�� 3+7$��+(
of8������ '�F��� �+$���.  

 ��	�
�� ��
� �����CDF���� ��� GHz 2,4�� 
 ��	���� ������� ����������� �!�" #�$�  

��
�
�
��
���

 �
���

�
��

�
�

 

��
�
�
��
���

 �
���

�
��

�
�

 

��	�
�� ��
� �����)dB( 
  

GHz 5,8 

�	�
�� ��
� ������)dB(  
  

GHz 2,4 

 ��	�
�� ��
� �����CDF ���� ��� GHz 5,8  �� 
 ��	���� ������� ����������� �!�" #�$�  

��	�
�� ��
� �����CDF���� ��� GHz 28 �� 
��	���� ������� ������#�$� ����� �!�" 

��
��

��
���

 �
���

��
�

�
�

 

��	�
�� ��
� �����)dB( 
  

GHz 28 
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�E��$�7�� ��² 3��P� g����� [S( [S.� H
� .�� I���% of�-#9� 3	;Q-
 &F��
 o�" 3E-R4 3��$
 j9k '�+��9� 39��F LZ��$
�6��+�8� ® 2):F o�F��/ pk 2)+, ��;Q�� �E��y� . 3:9O�7.� o����$���� )vQ �% of�-#9� 3	;Q-.� &F��#9� H
��

 <= 3;9�� LZ��/ 3E-R^� ?+a� 3�;E-�� 'W�$.�� 3��P� o�6�E��$�7�� N��Q �% &F��E� o���U ��9��� '9	�E �#�( )+, �4
2�Z�7�� ����/�� .��
�6 ��-
% �\E ����/�� �% ��� ��U-.� V�
	/�� -m% H
 3#OR�� 37,�	�� N�7�A� ���* �9�E� . 3+7$����

� �
�� �S���0� 3�Q�+$�� o�/��+�� !��g= ��RE% ���� [S.� H
 ?/n( I3E-R^� ?+a� 3�;E-�� 'W�$.� o�6�E��$�7�[�9.  

4.2 ���M�� 
�N&����  

3���#��� �����% X 2�g�� o���	
 �k��F 2�k <= ��g�$��� 3
�	�� o�6�t�� �	� �\4�� . 3�$�Q �9#	��� �F�-m% &+�Q 
 3��v��� ��7^ ��	���)�#	�7.� &F�
� 2�k���� 3�¢� u� ¥�+$�� |��v�� Hk LQ�$�� �c^�� {+.� ���7
 j9k ��g�#�k� (

 3����¥�+$�� |��v�� Hk LQ�$�� �c^� 3�@%� 3
�P� �����4 g�	Q� ��$Q �E�y
� I�+��7.� 5Z��6� ��-.� 5Z��6 o�k�;Q�� .
¥��, 56 3
�	�� �/��°��:  

�   5Z�$���� �c4 ���4 �% 3�(�-*���W �Z�:8 g��� 3��4 X 3��8 I)+, �
�� &F�.� j9k 3��v��� �#�	Q �F
3�-�
 j9k w�+.� �+7���-.� H
  .3E-R4 &F��
 j9k �E-�% 3�Z�:���� o����g 2�k ��³ D�" &
�/ ?+a

 u� q��-�Q 3��v���� �7/ j9k T�:^�� 3;9�� 3E-R4%40� %60 �6-�F }:/ 3�9´ '9	�E �#�( km 2 ����+�k� 
��-.� 3E��� H
.  

�   ����� 3��v��� �E�y�Q%1 <= %2��;Q�� 2g�E� H
 -�
 �
� '9	�E �#�( 2�k���� 3�¢� 3E��� . 
�   ����� 3��v��� �E�y�Q%3 <= %4�#	�7.� &F�
 3E��� ��;Q�� 2g�E� H
 -�
 �
� '9	�E �#�( . 
�  )+, �
�� 3��v��� �EyQ �% 2�k�F o��� 2�k u� ����8�� of+��7#9� ���Q 3E�98 3E��#	
 �ea H
 . 3+7$��+(

 §9+Q ��� ��-.� 5Z��6 o�k�;Q�� <=m 30 �6-�F }:/ 3�98 X 3��v��� �E�y�Q �f�
 km 2 3+7$� %44 '9	�E �#�( 
 3+7$�� 2�4�� 2�k�F 3���%80 3+7$�� u���� '9	�E �#�( %90 |���/� [�E � �=� £4 o��� &��e� '9	�E �#�( 

2��� 3Eg�-(= 3E¤� ��#R� ��:�:8 2�k���� o��¢�. 

3  �������	 
�� 
�	��	 ����  

�E �.�4 H
 �+:E -^� |�R;�� X N�\$9� [Zf
 ¦
�6 &
 2�k���� 3�¢� d�t�� ��c� )* -:� ]8 ?E�� �#	�7.� �% �-�
�W��~� )meQ ��+�k�� X �8�E �% j9k 2-7��
 3
�P� ?�( ��
Q ���� �F�9� 3E�©.� 3+7$�� ��74 N�f��.  

2�k���� o���#9� 3
�P� 3��$
 X 39�� �e� '9	�E �#�(� X 3(���.� 'Z�-��� 3����� �W��~� |�$m% -7���� -E��Q H
� I
 3������ITU-R P.530.  

1.3 �8*>�"� ��	�"� ��	
�  

 ����(% 3#\�$
 )* ���
A� �% ��)HE�	� X ( 3������ X _���.� g�	�A� �g�4% !"�#$�� �n(ITU-R P.530 '9	�E �#�( 
 X -m�Q ��� 3#\�$.� )* ���
A�� 3���m 3��/ u� 2g���.� of���� j9k ?��+�Q H
� � 3��/ <= 3��/ H
 of����

3$�	
 3��$
� . ��� -�.� 3�98 j9k ���
A� ¨��� T�	
 ]���
 &E��Q '�+��� ��6 g�	�A� 5Z�$m N�\�/�� N�k 2�k�-
 H
��
�S����g �-t . �6-�F }:/ 3Ey,-
 3E�v�� 3�98 <= 3+7$����L� ��� I �
��� X g����� w��+�� [�-�10 ��� 3©(�
.� 3��$.� 

 -���� }:/ �6g�>d0�F��� H
 2���O.� 3E�©.� 3+7$�� |�$m% 3��v�9� `-	�E ���� .  
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���s �
10  
%	"� O*%P C �Q@�R"� ��	
��� ��	�� %	, <S8 ��T ��K$%� ��'
�� ���U� V	F  

  
  
�3E��g�-�� o������� <= g�$����� 3��v��� 3��$� �+$�9� |�-�= &K  ��
 j9k 2���.� 3
9#.� X �E-�% ��� ���
A� ¨��7�

u�$�.  
 3�98 <= 3+7$��������� ���	
� �6-�F }:/ L (km) N�\$�� �+8 ¦
�6� (dB) F3(�^� �$k :  

 �
���1 :X -�.� T��~ ]���.� T�	.� j9k T�:^� �
 3��$
 R
a
 ( p) Tf8 d���t [�E ���� %pH
 �F��� H
   

 

( ) 2.0
15.0106.0

1317.0
L

a RLR
−+= (27) 

 ��4R3��$#9� 3+7$��� 3$�	
 3��/ X -�.� T��6 T�	
 �6  . T��°� X g-E�3 o���	� '9	�E �#�( 3#9	.� d�~ T��
 
2���.� 3
9#.� X �S�9k T�:^� ® ��g�-�� j9k 3#Z�F .E �#�(� T�	.� �% µ4fE I3$�	
 3��/ X -�.� T��6 T�	� '9	�

 ����� ���t 3E�� �$k ��©K �
�� �;O$E 3$�	
 3��$
 X -�.� T��~ ]���.�%0,1 ���t 3E�� �$k �9��� ���4� 
 �����%0,01 ����� ���t 3E�� �$k }:$�� ���4� %0,001 �6-�F }:/ 3E-Z�g 3��$
 <= 3+7$��� km 2,5.  
 �
���2 : &���� 3(�7
 �E�rd0 3E�©
 3+7/ |�$m% %p 3�g�	.� �4 'E-W Hk 3����
 3$� X (27) j9k T�:�9� d��Eg�k   

 ( ) ( )( ) FLdpRddpRk
aa

=+−+ −α )/log(20)(log)25.22(1.15.1)( 04.0
 (28) 

 �	Q ��4k� α 3������ X g����� -�.� Hk LQ�$�� 5k�$�� u6���� ��g�r u�#9	
 ITU-R P.838 . )+	��� ����  
(1,5 + 1,1 (2d 

–
 
0,04

 – 2,25)) log(R
a
 ( p))3��$.�� 3��P� o���7^� j9k '+�$.� )7.� ��;� �
�k .  

 �
���3 : &���� 3(�7
 <= 3+7$���d0 ∝ (L, p, F)�����, 3�9P� d�~ 3��$.� 3��vQ ��
Q I:  

 ( ) %100,,

2

0 ⎟
⎠

⎞
⎜
⎝

⎛=
L

d
FpLC (29) 

 �
��� u+E�11 o�g�	.� H
 3t�$�� |�-�i� LZ��/ (27)� (28)� (29) -�F }:$� 3Ey,-
 3E�v�� u��9P 2,5� km 5 
 gg-��� �$k �g�#k ������� T�#	��� &
 u
�\$��GHz 42 d��F -�.� �+7� u6�Q ¦
�6 V��% j9k 10� dB 15 �$k 

3�9P� 3(�4 .u9#	�7.� &�h <= 3+7$��� ¶��7�
 ��-.� 5Z��6 �7, �% ��RE% g�:�� ��6 X `-�;E�  .Q� o���7^� X jk�-
 -^� |�R;�� X 2��7P�) 3�g�	.�(14)(.  

������� 	
��
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°�s T��3  
	
���
 ����� ��� �
 ����
 ����
 �� ����
 ���� � ���� ���� ���
 ����
  

!�"��� �#$��� � %��� &�
 '$� �(��
 �)*�+�*  

���� ���	� �
��� � 
��� ���� ��	� �R 

(mm/h) 

 �� ������ ������
����� 

 ��
� � 
��� ���� ��	�
 ����	�R 

(mm/h)   
�
�� ��� =km 2,5  
�
�� ��� =km 5 

0,001 65,6 36,0 33,0 

0,003 46,2 29,0 23,4  

0,01 29,9 19,4 17,1 

0,03 18,1 16,3 12,6 

0,1 9,8 9,5 8,5 

0,3 5,0 4,9 4,8 

1 2,0 2,1  2,1 

 

���s �
11  
 ,-��� ��� .��/0� 1�2�3°1,5 45�6 °51�
7   

1410-11

100

10

20

30

40

50

60

70

80

90

10
–1

110
–2

10
–3

 

 �
��

��
� 

��
	

�

(%
)

  

�
��� �� 	����� 	�����

��	���� �

 �km 2,5 �����! dB 10

 	���� �

 ���km 2,5 �����! dB 15

 	���� �

 ���km 5 �����! dB 10

	���� �
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2.3 8���� 9��3 %(:  

��)+, ��)vQ ��
.�� �F��� �74 ����(%� ��Eg�#k �W��~� )v�Q . 2�4�� 39��� '9	�E �#�( 3���^� 3��#$�� X )v��� ��6 jk�-E�
% `�-�(�� IT�	;�� )7.� T�W T�#	���� �f�
 D�"� Iu(�-�
 u� X -�,% �% uQ�k�F u���� ����E �% ?$
� �f#	�7
 �

�F� �% .N�\$�� ��6 ��
 ��,-Q 3��4 X -7���� u7r H
� ��
 �% <= �-;�� ��6 q-�E�.  
 q��-�E ��4 �4�� )7.� ��W �% `-�;E� I���4�� �f+��7
� u9�-
 �#�Q 3Ey,-
 2��	� 5#· ]0 H
 3
+a `-�;Q�

u� ���y�� �:;�� °0� °360.  
 ��$��� �)7
 <=� ��4��� )7.� <= 3+7$��� u6����� 3�9	�.� o�|�:4i� �n( ����(% [\�$
 )* -�.� T��6 �% <= ��-\/

3;9�� ��
Q . �
��� u+E�12u��$.� ��$��� �)7
 pk� 5#� )* )7
 pk u6��9� 3��"�#$�� o�|�:4i�  . _-	Q�
������� ����g�	.� ��$��� u7��� ?$k )+	��� H
� ���� ���y�� �:;�� <= �Z�	�� u7���� ��I(A) ��$��� �7, �% G(A):  

 

)(

)(
)(

AP

AP
AI

d

= (30) 

 )()()( tAtAAG d−= (31) 

 ��4Pd (A)3E�©.� 3+7$�� 56   H
 j9k% �+P� '#k ��
E ��4 L
�$.� ��$��� )7
 X �F��� H
A )�Q� P(A)<=  
 3E�©.� 3+7$��5#¢� )* )7#9� �F��� H
 .)�Q ID�" ��-* j9k� Ad (t) <=  ��� ���� L
�$.� ��$��� )7
 X �+P� '#k

�F��� H
 3E�©.� 3+7$�� t ����E� A(t)5#¢� )* )7.� .  
���s �
12 

;(�$� <��=�� 9����� ����> %����� 	�.
?@A �� �
B
  

1410-12

G

  
 ��$��� �7, �7>G3������ o���P� ��+Q�� :  

 �����1 : 3E��y�� g�rθ HE)7.� u� dmax� dmin.  
 �����2 : ��74GsymH
 :  

gb
maxgsym daG = 

 T���� 3����dmax u9
�	.� T�#	����� ag�  bg T��°� X HEg����� 4.� �7$�� }9�O. of���� -7��� 3E�©.  

"#�$��(dB)

�

�

�� 
�
� 

��
��

�� 
��
�

���
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�°s T��4  
�(���� 	C
@ D$�E� %$

��� F�-  

 ������(%)  ag bg 

99 0,123 1,366 

99,5 0,218 1,308 

99,7 0,342 1,259 

99,9 0,648 1,173 

99,95 0,810 1,165 

99,97 1,132 1,169 

99,99 2,041 1,077 

  
 �����3 : )7.� 3E-¬�$Q � �
�k ��74aH
 :  

 

d

min

max

d

d
ca

−

⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
= (32) 

 �f
�	.� g-E ��4c� d T��°� X 5.  
  

°�sT�� 5  

 %$

��� F�-c� d�(���� 	C
@ D$�E�   

 ������(%) 

c d 

99 0,907 2,852 

99,5 0,946 2,976 

99,7 0,969  2,761 

99,9 0,971 2,821 

99,95 0,930 2,347 

99,97 0,905 2,316 

99,99 1,000 2,270 

  
.� T��W% <= 3+7$��� ��
Q I3E��7�.� )7a = 1.  

 �����4 : ��$��� �7, ��
EG�����, ��9�.� -7���� �$k :  
x

symasinGG ⎟
⎠

⎞
⎜
⎝

⎛=
2

θ
            (dB) 

 j�	Q ��4x3������ 3�g�	.�� :  

55,0ln87,0 +⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
=

min

max

d

d
x                      for 1 ≤ (dmax/dmin) ≤ 2 
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 ��$��� H7r �7>�I3������ o���P� ��+Q�� :  
 �����1 : 3E��y�� g�rθ HE)7.� u� dmax� dmin.  
 2��P�2 : ��74IsymH
 :  

110
)( −=

ib

iLa
symI  

 �f
�	.� g-E ��4ai� bi T��°� X 6�F��� H
 3E�©.� �7$�� }9�� �$k u6���� ���c�� .  

 T��°�6  
�2G� 8
��H D$�I J�
K�� %$

��� F�-  

 L-��� �
 �)�M�� �2(��� N>
�
A  

�����  
(%) 

ai bi 

1 0,082 0,491 

0,5 0,114 0,431 

0,3 0,106 0,535 

0,1 0,155 0,559 

0,05 0,196 0,566 

0,03 0,324 0,406 

  
 �����3 : )7.� 3E-¬�$Q � �
�k ��74aH
 :  

 

d

min

max

d

d
ca

−

⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
= (33) 

 �f
�	.� g-E ��4c� d T��°� X 7.  

 T��°�7 

 %$

��� F�-c� d�2G� 8
��H D$�I J�
K��   
L-��� �
 !+�O� �)�M�� �2(��� ���  

�����  
(%) 

c d 

1 0,851 2,355 

0,5 0,961 2,493 

0,3 0,882 2,288 

0,1 0,768 2,631 

0,05 0,762 2,198 

0,03 0,858 2,427 

  
$��� ��
Q I3E��7�.� )7.� T��W% <= 3+7a = 1.  
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 �����4 : ��$��� H7r ��
EI�����, ��9�.� u6���� �$k :  
x

symasinII ⎟
⎠

⎞
⎜
⎝

⎛+=
2

θ
1  

 j�	E ��4x59E �� :  

84,0ln61,0 +⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
=

min

max

d

d
x              for 1 ≤ (dmax/dmin) ≤ 2 

2���.� 3
9#.� X ��g�-��� 2g��-.� ���
A� T��6 o��	
 <= g�$����� o�k% 'Z�-��� �% µ4fE.  

4  ������� 	�
� �
��  

 o�)7
 2�k pk ����/��� ¥�+$�� |��v�� o��
�$E�� 3/�¹�.� o�)me��� �-;�� ��6 T��$�E)3�K�A� �E��R���� w�+.� ( j9k
)7.� 2�$F .\/�]�( g�a�i� ��+� j9k 2-7��.� V����� LZ��/ j�	Q I�����4 34��.� o���	.� 2��$� ��- . j9k T�:^� H
��

Tf8 H
 ����/��� '9	�E �#�( ����	.� _�-ª��� 2��ai� )v�� 3�9	�.� o�
�9	.�3������ X ¥�+$�� |��v�� �-r   
ITU-R P.833.  

1.4 P
��� ++��$� QP
���� %��3R
2��� .
�S�� TA �  

 x��/ `-k X T���b� ��a�-
 3k�#� 3����� o����F �E-�%MHz 34 5Z���/� u6�Q ���4 T�#�4� 3���g _�² 
2�$��� pk gg-�9� . �SF��/ `-k §9+E o��$F w�º ��a�-.� 3k�#� �$#RQ�MHz 1,6) (dB 3– �S$�� �:;E� MHz 3 

2�$��� ]�� X �	K�.  
��� �E-�% �F� 3(�7
 �$k 3���+�� ��/ H
 2-ca |��� o����m 15 d��F ����k� ���( &
 ms 100 . g��� N�	� ��-\/�

2-c��� �² y�» T�+4 3����� �E-�� )meQ 2�,�� o-� IV����� 2-�( Tf8 q�E� . �
��� X g-E�13 o�E�� u� 3/���
 
3E�F q�E� _�-¬ X o��$��� 2��a= .� 3R;O$.� 3E�7�� 54�Q� )+, 5Z���/� u6�Q g��� N�	� 2�$��� pk ���9.� )v�9

gg-�9� . u� 3	F���� x���A�� ��:*A� 3(��, Hk �% �c^� )vQ Hk ��t�/ ��
E �F 2��ai� 3E�7� «
y�� )v��� �n( �������
����/�� �F� X _f�8�� ��
E ��4 o�)7
 2�k pk ����/�� �+7� �% I��-.�� �+��7.����� �f�©K .  

 ��:��� 2����� N�#R
 T�#	���� 3�-t �E-�% 3¬��9.� LZ��$�� ��+�8� X 2g�E��(MPC) �#S$�� �:;E uEg-( u�Z��6� cm 72 .
 ���+�8� T���= �-�%�MPEG-2 TV �$k GHz 42 '7$�� T�#	���� DVB-S)  T�	
 }:$� e�O9� 5
�
A� ���:���

����� 34y4y� 5	��-��� ��
����.( Tf8 H
 3�9�O.� o���ai� D��,� 5Z��6 �, H
 2�g�:�� o���ai� �	K�� 
 3�#F-�� 3E�E��;�� 3�k�"i� 3
�P� X 3E�E��( ��F�-
� 2-;��� D;� 'Eg�$� 3mfm X ��:��� 2����� N�#R
(DVB-S) .

�F� -��.� ��caA� ��:*% Tf8 H
 o���ai� u�Z��~� f, �+��7E 5
� 2yS�A� �+:/3, . 5
�\/ H
 f, z�k �F�
DVB-S3
�-�� X 3#\�$
 2��78 H
 5Z��~� ���4�  . D
;� ?���:Q �	:E ��� ���E�a 3
�-�� 2��78 T�	
 ��,�

2�-
�
 3E�E��( 2��78 �+� �C );���� . H
 ��:��� 2����� N�#R
 3����� 3�9�O.� 2��ai� �/�k ID�" �
k j9k�
������� 3R;O$
 3
�� 2��78 );���� D
;
 ������ MPEG-2¼��-��7
 ��E��;�� T���i� �¬� D�" Hk �E�	��� H
 .  
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���s �
13 

�)�- U
)* V��W � 	������ !*
XA 	
)�� %> ��*
�
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2.4 	
�
#��C� �� Y3
��� 	�;(
 !�� Z� *
[��C�  

1.2.4  ����3 YP
���\H ,2�39
�[��   

� 2�,�� o��9#k �$�-m% &+�Q N�\$�� �v��� ��� _�-\�� X �e��� 39�9F ��+Q o�)7
 2�k pk ����/�� 39
�
 �% ��	��� 
o�)7
 2�k pk 2-��$.� o���ab� ���� ��)+, ��$�6�Q �+7Q ���� 3��R�� �+��7.� 5Z��6 3
y4 �%� I�S9¬ X . 3	aA��

H
 3�	+$.� ���� 39�R�� 3���#��� H
 �² Ve� � 3���� �+��7.� <= �-7�Q ��� �6�4� 56 `�A� H
� 2���¡� q��7�� 
��7Q�� .���� 3;�	K 2�,�¢� 3����� 3¬��9.� ����/�� �F� �E�� [�F �n( ID��� 3c��/�.  

 2�,�� |�$m% 3�-	$.� 3	aA� V��Q �-m% &+�Q��$6 �% 3���7�� T�#kA� �	� �$�� H
�� ��	���  �S$
� ���� 39�9F &F��
 
�8���9� ����:
 3�-	$.� 3	aA� �
�Q ��4 39�9F &F��
 ��$6 ��
Q �% ��-.� H
 ������� I3�-	$.� 3	aA� T�#	���.  

� o���74 �E-�% IT��.� ��+� j9k�-m% &+�� 2)+, o���	
 2�k�F T�#	���� of+��7.� &F��. ����/�� �F� �E�� ��	a 
)Ig��;7,�%2���.� 3
9#.�  .( pk ����/f� ���� 3R;O$.� o�E�7�� �+7� 3E�v9� 3R;O$
 ��#�F o���7^� d�6 ��k% �F�

o�)7
 2�k . ���4 �v9� ����/�� �F� �E�#�� 3��	;�� 3����.� 3#���� �% µ4�� �F�ns 0,01Tg�	E �
 �6� I `-k ��+E-�Q 
 d��F D��#�9� x��/GHz 15 .
�
 D�" �
�E H��x��$�� �E-k ��Eg�� "�;/ N�\/ <= 3+7$��� 39 .� H
 �% �	+�7.�

 2��,�.� 3�-	$.� 3	aA� �+7� D�"� &F���� X �^� ��6 <= 3R;O$
 ����/�� �F� �E�#�� 3��	;�� 3����^� 3#���� ��
Q
 <= �:E D��#�9� x��/ `-k ��+�k� ���	F�� H
� H
�� Idfk%GHz 5 ..� _�-ª�� §9+E� �E�#�� 3��	;�� 3#��9� ����	

 ���4 ����/�� �F�ns 0,01.  
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2.2.4 	
�
���� �
 YP
��  

 �4 j9k ��K o�)7
 2�k pk ����/� 3����� �c^� 3��$
 |�. 3�/�

= 3���� w�+.� Hk 3t�$�� o���
	/�� ��+�k� H
�
|��� . d��F gg-Q �$, T�#	���� ��-�� o��9#k �	� �$�� �F�MHz 80 2��ai 39+��7.� &F��.� g�k 2g�E� H
� ?/% 

 3+7$� 3��v�9� 3#Zf
%937
	$.� o���ai� 3(�Kn� D�"�  . )(��� 37
	$
 o���a= T�#	��� �% 3\4f
 5v+$E D�" &
�
�,��
 2�k )�E 3$�	
 3
�8 . �,�	�� |5��� <= g����� 2��ai ��
E �% �% 2-��7
 2��ai� ��
Q �% �� ���% pk )7


-:+�� ]8.  2��ai� -S\�� 3,-^� �+7� �c^� <= `-	�E �% �#�> ��)7
 �% ¥�+$�� |��v�� )7.� H
 |y� �% pk �"=� 
���$
� ��)vQ 3t�$�� .��-��7
� ��#Z�g ?Q�" �,�	�� |5��� ��
E �% �� ���/�m�.  

k 3E�v9� )+, )meQ �,�	�� {+.� ��� 3/��8� 34�7. ��
E2�$��� gg-Q 3��c��� j9 . �
��� u+E�14 2�$��� 3��c��� 
3;9�� 37
	$
 o���a= �f�� '9	�E �#�( 37��.� : Tys$
 3$8�
 H
 3�/���� 2��ai�� &$:
 2�(�/ H
 <�A� 2��ai� ¥eQ

 3(-a �")5*�E ��Ey;9�� 5Z��² ��RE% yS� Tys$.� (!�C w�	
 ���� �S7
	E 3������ 2��ai��3Zyc���� &�+9� )+, {+.  .
��E�U-
 ��E��� ����
	/� ���� ��g�C ��E��� ����
	/� 5�	E !�#.� w�	.� ���°� �% {+.� ��² '9	�E �#�( 3\4f.�� -E��� .

 ��-.�� &F��.� u� 3(�7.� �v9��km 1,34� km 1,57� m 616������ j9k .  
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 ��E�U-
 ��-:$k H#R�Q� 3��7
 2U-#, _-:�Q �MA 3
�k 2��:� 3#\�$
 gg-Q 3��c��� -(�Q &$:.� 2�(�/ �% µ4f.� H

���4�� . )7.� ��W X _f�8�� ����E ��y�C ����� 3$8�.�� !�#.� w�	.� ���°� -S\E u4 X) !"�0 `�-�(� j9k

HE)7� ( �����m 6� m 60k ������ j9 . V�
	/�� ��#��� <= )7.� 3(�7
 T�W �y	E �F I3$8�.� V�
	/�� '9	�E �#�(�
 �$k &�E -8U |5a H
 ¥e�.�m 303$8�.� |��� ��+E-�Q  . T�W _f�8� j9k T�:^� H
� !�#.� w�	.� ���°� 3��4 X�

 ����� )7.�m 6�% <= ��-\/ I?Q�" ���°� |�y�% }9�� H
  ]�( ���� o���ai� V�
	/� X [6�7E �% H
� ?9
�
� {+.� 
2)v:�� 3E�U-.� 3��$.�.  
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 gg-��� 5F��/ H
 �, X 3E-R4 ?+a 3��$
 X x��$�� &��� �gg-��� }���� o����F ��;$Q ® �F�GHz 5� GHz 25 .
 T���i� }��� T�v�.� x��$�� ��,�MHz 26 d��
 §9+E |y� ��$6 ��,� MHz 10  <= ��7
 x��$9� �y,-.� |y°� H


)+, �4 . 3E�7��� ��:��� 3E�7�� H
 x��$�� �8�g ��7Q�� ����� j:FA� �^� ��74 H
� I�gg-Q }�W �, X�
 §��+�� ��.� X ��/���MHz 10}��9� �y,-.� |y°� H
  . 3+7$�� �n( Iu���� �8��Q !"�0 `-;��(D/U)3��#9�  D 

.�� 2-a�+
 3��#, 3��Ux��$�� �8�g ��7Q�� ���Q -E��Q X ��#S
 �f
�k p�	Q 37
	$
 3��#,  . ��7Q�� ���Q -me�E�
3��¢� ��caA�� T��$.� ��
 'Z��k Hk LQ�$�� �c^�� 3�(-W 3�� �$k x��$�� �8�g . 3��.� 3E�� �% `-;��U ?/n( I3���m 

 3#���� �= T���� H
�D/U
 ���7Q ����/�� )7.  H20 <= dB 30 . 3�¢ 5Z��6 N��O��� 3��4 X ?/% <= ��6 )�E�
 d��F 5Z��6 �7, ?� 3�(-WdBi 15 H
 p,% �c4 ���4 &
 ��+E-�Q dB 20 x��$�� �8�g ��7Q�� X _f�8f� �n( I

��K ���Q .�8����� o���
 �+, 3E�� j9k 56�t�� 5Z��~� �7, -m�E� . �6��F 3#�F `�-�(� H
��dB 50 3+7$9� 
D/U d��F �7, ?� 5Z��~ 3+7$��� dBi 32� dB 30 ?+7, 5Z��~ dBi 12 . u� x-;�� u�Z��~� ½7, u� x-;�� ����E�

 �#�FD/Uu����7�� .  
 �$k ��Eg�#k 3+���7
 2��a= T�#	���� gg-��� �$, o����F �=GHz 26 u� q��-�Q V�
	/� �E��y� �E-�% ��� °87,5 

�°89) �
�� �%���°� ��� &
 ��+E-�Q �
�	�
 ( d��F ������
 ��$�6�Q �$�� IdB 7,5 . X ��	�E �+��7.�� ��-.� ��,�
��
.� �;/ . H
 ����°� £4 o�(�7.� �4��-Q�m 37 <= m 402 . �S�( ����°� 34�7
 ��
�Q ��+
 3	��% �9#	��� �F�

\�/� N�k q��-�E ������� ��	.�� ��
-���� !��y�� H
 u� ��7�� N�cm 3� cm 75 . T�¡� ?c�
 �% 3\4f.�� -E���
����°� &
 ��E����
 ��, 5Z��-S
�� . �
��� u+E�15o���
	/�� �+7� 2��7O9� ���#,�-Q ��	E��Q  . _�-ª�� �% ��� �F�

 59E�� &E��Q <= 3+7/ o������� X �F�$�9� ����	.�σ = 0,53 dB   
  

 �
���15  
^����� ,)J����_2
 `�*�/ '$� 	
�
#��C� �� �a
��� !*
(E$� Q�  

 ++�3 ��� b�����GHz 26 
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5  �������  

 |�K�R�� <= 39
�^� 3��.� 3+7/� gg-��� T�#	��� 2g�k= ]0 u� '�(���� V��% j9k 3E�9P� 3E�Eg�-�� 3#\/A� [#:Q(C/I) .
<= -
A� !��> �F� �74 �% I¶̀ -
 �
�� �#	E �% u	
 N�\$� {7�E 5, |�K�R�� <= 39
�^� 3��.� 3+7/ H
 zg% �4 
2g�¢� |�gA� 3�k�/.  

 |�K�R�� <= 39
�^� 3��.� 3+7/ H
 ��9�.� zgA� �^� |�K X�(C/I)  2g�ki [\�$
 !"�0 &K� �S7�� H
 �+:E
`-v��� 5;E gg-��� T�#	��� .$E D�" &
� &F�
 ����8� 5v+$E �#, ��+�k�� X 3�K�A� �E��R��� �Z�:8 �8�Q �% 5v+

��Eg�-�� "�;$�� N�\$� 3��9�.� |�gA� 3�k�/ j9k T�:�9� 3E�$	� 2�k���� 3�¢�.  
 X�_�-�.� 5Z��6 3
y4 '�K �+7� u9#	�7.� H
 39F ��� D��� -me�E H� o��^� [\	
 . u� Ny^� `-k q��-�E�°2� °3. 

 3������ X 3(���.� !"�#$�� T�#	��� H
� )me�9� ��K-	�E �F HE��� u9#	�7#9� 3+7$����ITU-R P.452 3������� ITU-R P.530 
 I������ j9k I-:+�� ]8 j9k 2�y	.� 2��ai�� -:+�� ]8 !��8 2��R�� 2��ai� ?�( �	+$Q ���� �F��� H
 3E�©.� 3+7$�� -E����

k���� 3�¢� H
�8���9� 3++7.� 2� . x�( -(��Q � H
��GHz 37�² e+$�.� [���� 3�� ��,e�� o���	
 �% I.  
 3���g Hk 3t�$�� o���	.� T�#	���� �8����� 39
�
 [���Q �-�111 V���� 2���.� 3
9#.� �² �
�F 39¾ Tf8 ��	F�
 

3$�	
 3��$
 3��vQ .�8���9� �#�� ��:#, -8U ��-
 3���g o-��. ��	+/� ]�( �4�� &F�
 H��� o���	.� ��#� H
� 
 d�6 X £4� I��9�.� ��-.� �ª g�7.� 5Z��~� 3
y4 3��( X |�K�R�� 3+�k �S�E�� x�;Q ��9�.� )* ��-.� H
 2��a=

 �v9� 3��9�.� )* 2��ai� <= 3��9�.� 2��ai� 3+7/ �% µ4�� 3��^�dB 15 .�� �% �,�E D�" �% ��+E� u� �#�( �8���
�+��7.� o��Z��6 o���( '�K �+7� ���A� j9k ��;�;W ��
�� �EfP�.  
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